
074008-0 - 4.9 CFM 6 Gal - Air Compressor

Power Distributors https://pd.partsmartweb.com/scripts/EmpartISAPI.dll?MF&app=powerdis...

1 of 2 11/9/2020, 6:59 PM



Ref # Part # Description Qty Context Note Foot Note

1 200673GS Tube, Infeed

2 200674GS Valve, Relief

3 199961GS Hose, Rilsan

4 200720GS Assy, Cable, Power

5 199172GS Decal, Warning

6 192310GS Kit, Vib Mount

7 199739GS Decal, Tank Drain

8 200675GS Valve, Drain

9 200676GS Rubber Foot

10 200677GS Coupler, Quick Connect

11 200678GS Valve, Safety

12 200679GS Assy, Pressure Switch

13 200680GS Gauge, Pressure

14 201697GS Adapter

15 Nut, M8 (Purchase locally)

16 199176GS Decal, Electric Shock

17 200364GS Plug

18 200681GS Pressure Regulator

19 201059GS Adapter

20 200692GS Capacitor, 60ÂµF

21 200682GS Handle

22 200683GS Coupling

23 Nut, M8 (Purchase locally)

24 200689GS Kit, Valve Plate

25 Screw, Taptite M5 x 20 (Purchase locally)

26 200690GS Kit, Shroud, Plastic Includes #38 & 39

27 200691GS Dipstick, Oil

28 200684GS Screw, M6 x 40

29 200685GS Connector, Elbow

30 200717GS Breaker,Circuit, 17A

31 Stud Bolt (Purchase locally)

33 200910GS Wire Harness

35 200688GS Valve, Start

36 200687GS Kit, Air Filter

37 200697GS Filtering Element

38 199174GS Decal, Hot Surface

39 201731GS Decal, Reset

40 201732GS Decal, Important

203719GS Manual, Operator's Parts Not Illustrated

201765GS Oil, Compressor Parts Not Illustrated

203884GS Decal, Logo Parts Not Illustrated

Power Distributors https://pd.partsmartweb.com/scripts/EmpartISAPI.dll?MF&app=powerdis...

2 of 2 11/9/2020, 6:59 PM


